Y.

14" S ";‘w?’v&ﬁ—pﬁ + 5{;-,;
s

§

ol

Wikeler 1272 £4
&~
o o
5
sUA

e

e
e
o &

Bo-K

o mﬁ;«gwﬁw«wwgs@ A&ﬁ« mfmm\m ww%‘,%éxm,wﬁ% e %&%@fﬁ?%@b& t\rf %«m@@;&%&w&w\ t\w ﬂ?ﬁh roi
i . _ ;,
X N y To 7 Kky= vl _ | ,MUNMM? =0 = ~lbols) -bol5)+ D\EM
% L EME =0 =-bo(20) t Fre(18) 27 FRe =G0 K, T Cy=-BOK ¥
&5 ﬁvM‘xuo., B0 -~ 6O +B0 + Fre = Fre= B K, C and... o w .
— T N eMe o = ~6o (8 -balis) + Dyl

@,%u gok \M/




ENGE 2050 - St hes -léoa  Mileler j2taed | Aﬁﬂ%’éy%wmvi e
Whot e fonon 50 for is tho [lloring, @

fo i =

Y

A

h
T

xS
i

g{@\k’; v

= <
i
cn
o
8

= B0k, Comprecsisi
= Bok ) Tensisi

!

g 3 I N : J Jaint
: M{fxﬁ, , laformune Hie %@éémgﬁ% %Sm% éﬁgﬁé@ﬁ@% %W% :

4F = 7, Lonpesss s
F - éﬁtn‘{?{m‘&@u o Tengase -
&=z :
De=7F v .
Ra = 7 v )
Fg - ? . H
gc =7 "

B W{}{Z E )
OoK ! Tifk To T BuK + Fg (tﬁ)

vz
VN, Fer = s — -1l
y _ - @Qiﬁ = -HZ WK
{:g)g::: nz £ ,c
] éj:“f =0 = ~Fg¢ + 3‘3<§ff€>

FEC, = @OK oT

Ll . -
ey (:hh’w‘%’ Q}

NFee + .
~BokKN +fen.

©
b
7
g

5ok Fep = BoK = = Bk T

Hery=a = - )+ s
- 9 & Eaj

A
4

e = ok T = oK | T

Nowd o car oppheyths Habhod dy Qs b solve or e remaniony otimbiers




BNGR. 2620 - cdnbies ~mll o9 Ybbelor V245 £4 /&mew%miw&/% i

| %‘F 5&2&,‘%" N 3}

7 ifk=o0 = —fgg <%;;})mg«~%@(<

Fge = 842K 7t

e

,,;,(E‘gﬁf - »«6‘-{3‘5(’5@;} & Tag

B B3t )

F%Y g%";’b‘% ?étf
5 77 FAF |
%awﬁ 12Fy =0 = 433 (A ) + Far ()
éﬁZ 7 Far = (’ 8%%(9;,%} < &\
—

Fae = —3333 K/

Far =323 K, ¢

go ‘{%’ﬁﬁ 7 $_,u§:£3f afe &5 é;; %ém;g Tz

Reochgns Menbors
o= o K < AF= 323K ¢
§K/~W‘:¢ FE = Bo.ok, ¢
ggc\f:@@éi@f ED = 112K,C
- Roy = gop De = Bok, T
1 Be = @mg T
g{%“g%»ﬁgﬁ

BF= z¢.7K, T
s = é{}fe;g“f"

=

o= (o xdio ) = 8435 -

Fer = Ze.b] kI =27 K 7




